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THE OPEN UNIVERSITY OF SRI LANKA
CERTIFICATE IN INDUSTRIAL STUDIES
FINAL EXAMINATION - 2006/2007

TTi2634/ TTC1607 — APPAREL TECHNOLOGY

DURATION - THREE HOURS

DATE: 171" March 2007 TIME: 0930 — 1230 Hours

Answer Question 01, which is compulsory and additional five (05) questions.
Question 1 carries twenty-five marks and Questions 2 to 9 carry fifteen (15)
marks each. - -

Question 01

(a)

(b)
(c)
(d)

)
(9)

(h)

(i)

What is the difference between Pattern Drafting and Pattern Manipulation

techniques. (02 Marks)
Define the two terms “Intralobping"and “Interlooping”. (03 Marks)
State five(5) reasons of using interlinings. (03 Marks)
List three(3) types of buttonholes according to their method of construction.

' : (02 Marks)
What is the impartance of insertion of drill marks and notch marks to the fabric
piaces? (02 Marks)
State five(5) types of Production systems used in the sewing room. (03 Marks)
For calculating Basic Time, We use following equation - {03 Marks)

A axb
Basic Time = what do a, b and ¢ represent?
C
What is the ticket number of a sewing thread, made up of two plies of 30Nm
(30Nm/2) (03 Marks)
State three (3) objectives of pressing garment parts / garments. (02 Marks)

(i) “The benefits of productivity improvement is sharing among three categories”

Name the three categories. (02 Marks)




(2) (a) “Body measurements are one of the main requirements, which are needed
to construct patterns”.
= Explain the correct method of taking following measurements from a

female body. (Use rough sketches if needed).

(i) Bust measurement
(i) Body rise measurement
(iii) Hip measurement

(iv) Across back width measurement

(b) Name five (5) specifications that can be seen in a drafted Men's shirt
pattern.

(3)  “Stiches and seams are the commonly used terms in any sewing process”.

(a) Define the term “seam” according to British Standard.
(b) Explain with aid of diagrams, the method of making following types of
seams.
(]’) French seam
(i) Welt seam
(¢} Write short notes an following stitch types and compare them.
(i) Class 400 stitch type
(ii) Class 300 stitch type

(4)  (a) Explain the functions of the following devices.
' (i) Back tack lever

(i) Take up lever

(ili) Stitch regulator

(iv) Needle

(v) Presser foot

(b) Explain three(3) different types of presser feet with their applications.




(5)

(6)

(7)

“A marker is a length of paper on which the pattern pieces are drawn to

achieve the maximum utilisation of fabric”
(a) Explain the advantages of computerised marker making method over a
manual method.

(b) Describe five (5) requirements of spreading.

(a) “"Good lay planning will help to minimise the cost of production”. Explain
what factors should be considered, during the process of lay planning.

(b} The following contract has been received by the cutting room.

Sizes 10 12 14 16 18 20
Quantity 24 48 72 60 36 12
*  Maximum allowed depths of lay = 36 plies

*  Maximum number of sizes that can be included in one marker are 4

Determine the most economical lay plan.

(a) Explain different types of machine beds with their applications.

(b} Compare the drop feed mechanism with the unison feed mechanism.




(8)  (a) Explain the importance of line balancing.

~® (b) A production line includes the following operations.

Operation SMV
1. | Make sleeves 2.55
2. | Close darts & sleeves 5.05
3. | Under press 3.40
4. | Attach collar 1 2.25
5. | Attach sleeves 1.55
6. | Hem 1.75
7. | Press off ' 3.25

(i) How many work places would be required at each operation to make 180
garments a day?
(Assume standard performance and a working day of 450 minutes)
(if) How many operators would be needed o staff the fine?
(iii) Which operations should be amalgamated to achieve an acceptable balance?
(9) (&) " The role of management is to coordinate and bring together various
elements of business for achieving the desired objectives”

Explain three(3) categories of total management functions.

(b) Explain the two methods of performance evaluation in an organisation.




